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Sketch the straight line, correct gradient or y intercept 
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Shape of positive cos graph   P1 

1 ½    cycles   P1 

Maximum  1,   minimum -1    P1 

Use identity : 

tan2x=sin2 x/cos2x 

atau   cos2x+ sin2x  =  1 

atau   cos2x- sin2x  =  cos2x 
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(c) Rectangle   @   Segi empat tepat P1 1 

7 (a) AOB = 6.5/5

      = 1.3 rad. 

POQ  =  0.8667 rad.
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(b) MN = 5  sin(0.8667 rad.) = 3.811 cm

or ON = 5  cos( 0.8667 rad.) = 3.2367 cm

Length of arc PQ = 6   0.8667 = 5.2002

Perimeter  = 1+*MN+ *NQ+*QP

= 12.77 cm 
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(c )     Area of sector OPQ = ½  62  0.8667 

    OR Area of triangle OMN=½ (3.811)(3.2367) 

        Area of shaded region =  *15.60  *½ (3.811)(3.2367) 

 = 9.432 
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9 
(a) p = 0.85,   q = 0.15

𝑃(𝑥 ≥ 6) =  𝑃(𝑟 = 6,7,8)

8C6 (0.85)6(0.15)2  or  8C7 (0.85)7(0.15)1 or  8C8 (0.85)8(0.15)0

    =  8C6 (0.85)6(0.15)2 + 8C7 (0.85)7(0.15)1 + 8C8 (0.85)8(0.15)0 

    = 0.8948 
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(𝑏)(𝑖) 𝑃(35 < 𝑋 < 66) = 𝑃 (
35 − 48

6
< 𝑍 <

66 − 48

6
) 

= 𝑃(−2.167 < 𝑍 < 3) 

 = 1 − 𝑃(𝑍 > 2.167) − 𝑃(𝑍 > 3) 

 = 1 − 0.01512 − 0.00135 

= 0.9835 

       Number of students between 35 to 66 marks = 0.9835 × 180 

   = 177 students 

(ii) 𝑃(𝑥 < 𝑚) =  0.05

𝑃 (𝑍 <
𝑚 − 48

6
) = 0.05 

         1.645     𝑠𝑒𝑒𝑛 

𝑚 − 48

6
= −1.645 

           𝑚 = 38.13 
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10 (a) All values of  (x+2)   and   log10y    correct.

x  +  2 1 2 3 4 5 6 

log 10 y 0.92 1.00 1.08 1.12 1.24 1.32 

      Refer graph paper 

      Plot log10 y against (x+2)  with correct axes, uniform scales and 
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     K1 
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 at least one point. 

      6 points plotted correctly 

      Line of best fit 

     N1 

     N1 4 

10 

b) (i)     14.45

 10 10 10

10

10

10

10

( ) log log 2 log

log

log 0.84

0.1445

log

log 0.08

1.202

ii y p x q

Use q c

q

q

Use p m

p

p

  

 

 









    N1 

    P1 

    K1 

    N1 

    K1 

    N1  6 

11 

 

1
( ) , 2

2

2 2 8

2 18

BC AXa m m

y x

y x

  

   

  

P1 

K1 

N1 3 

10 

(b) Solve simultaneously :  y = -2x +18    and      2y = x  +  10 
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(b)      Refer to graph   paper 

          One *straight line  drawn correctly                                  

          All * straight line   drawn correctly                                                               

          Correct region     
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 (c) (i)  Maximum (40,30) 

 

                  K = 2.50x + 1.80y 

            Maximum cost  = RM 154 

            ( ) 15 40ii y  10log p m    
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